Opérations avec deux fractions mixtes (F)

Nom:

—_

w

10.

Date:

Calculez chaque résultat.

shxa =
5%—41—10=
53430 =
5§+2%:
53 +2¢ =
55 +5- =
5%x1§ =
5%—2% =
5%x1§ _
5%—51—56=

Note:
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Opérations avec deux fractions mixtes (F) Réponses

Nom: Date: Note:

Calculez chaque résultat.

112 7
T - 15

1 2 16X7
375
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4 1 49 41 490 369 121 31

255740 T 971090 9 - 9 ~ ‘50
. 51+3£_g+g_231+156_ 387_8§
T4 11 4 11 44 44 — 44 44
, s2,,8 _ 17 30 _ 187 90 _ 277 _ (13

3 11 3 11 =~ 33 33 ~ 33 33
L oshiol 20, 13 174 65 239 _ 29

5 "6 5 6 30 30 30 30
6 55_5_ —S_O_Q— 5_Oxi —@

9 9 5 9 72 " 261

2 3 27 8 216 16
e e T

1 5 11 19 77 38 39 11
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1 2 11 9 99 1
Xl = X = w Ty

8 5 53 85 848 765 83
10. 5- —-5— = — — = = — =

9 16 9 16 144 144 144
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